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Q1

Which of the following is an actor of task environment?
(a) Economy

(b) Media
(c) Promotion(page no 2)
(d) Technology
Q2

Which of the following is NOT a purpose of a marketing plan?

(a) It assists in management control(page no 16)
(b) It assigns responsibilities, tasks and timing
(c) It co-ordinates marketing and production activities
(d) It specifies how resources are to be allocated
Q3

Which of the following must be developed at each product level for achieving the goals?

(a) Corporate plan
(b) Selling plan

(c) Marketing plan(page no 15)
(d) Business plan

Q4

What is the duration of a short-range marketing plan?

(a) One year or less

(b) Two years or less

(c) Three years or less

(d) Three years or less

Q5

The strategy which involves creating a product that is perceived as unique and should provide superior value for the customer is called:
(a) Market segmentation strategy

(b) Market dominance strategy

(c) Differentiation strategy(page no20 0r 21)
(d) Cost leadership strategy

Q6

Any tangible thing that can be offered to a market for attention, acquisition, use, or consumption that might satisfy a want or need is called:

(a) Service

(b) Product (page no 13)
(c) Demand

(d) Idea

Q7

A brand name is one of the elements of the:

(a) Discounted product

(b) Core benefit

(c) Augmented product

(d) Actual product

Q8

Life insurance is an example of which of the following goods?

(a) Convenience

(b) Expected

(c) Shopping

(d) Unsought page no 8 or9
Q9

Soap is an example of which of the following goods?
(a) Unsought

(b) Specialty
(c) Convenience pge 25 not sure
(d) Shopping
Q10

Which of the following is TRUE about a product?
(a) The idea that the customer receives in an exchange

(b) The service that is rendered to a customer

(c) The physical object the customer receives in an exchange

(d) Every tangible thing the customer receives in an exchange

Q11

Which of the following stage of product life cycle is most expensive?
(a) Introduction page no 25 or 26
(b) Growth
(c) Maturity
(d) Decline
Q12

How many stages are there in the new product development process?
(a) Nine

(b) Eight

(c) Six

(d) Seven(page no 28)
Q13

All of the following are the sources of idea for new product development EXCEPT:
(a) Government agencies (repeated)
(b) Competitors
(c) Suppliers
(d) Customers
Q14

Which of the following is the spread of idea from the source of invention to the ultimate user or consumers?

(a) Innovation adoption process

(b) Innovation diffusion process(pg 32)
(c) Adoption process
(d) New product recognition
Q15

Which of the following has a quick response towards a new product?

(a) Opinion leaders

(b) Late majority
(c) Early majority
(d) Early adopters(pg 32)
Q16

Which of the following factor plays a large and vital role in the adoption of a new ice cream?

(a) Global changes
(b) Market influence
(c) Personal influence
(d) Fashion
Q17

Which of the following brands cost more than other products in the category?

(a) Premium brand(pg 37)
(b) Economy brand
(c) Fighting brand
(d) Corporate brand
Q18

Which of the following brands is created specifically to counter a competitive threat?

(a) Premium brand

(b) Economy brand
(c) Fighting brand (pg 37)
(d) Corporate brand
Q19

The existing strong brand name can be as a vehicle to launch new product in the other categories. What does this statement imply?

(a) Family branding

(b) Line extension
(c) Individual branding
(d) Brand extension pg 37
Q20

Which of the following is also known as dual branding?

(a) Private brand

(b) Multibrand
(c) Co-brand repeated
(d) New brand
Q21

When two or more well known brands are combined in an offer it is called:

(a) Private brand
(b) Multibrands
(c) Co-brand pg 36
(d) New brand
Q22

A company has different choices when it comes to developing brands. Which is not one of those choices?

(a) Width and depth extension

(b) Multibrands

(c) Brand extension

(d) Line extension

Q23

Which of the following is a brand created and owned by a larg retailer of a product after purchasing in large quantity from manufacturer?

(a) Co-brand

(b) Private brand pg 36
(c) Manufacturer's brand

(d) Licensed brand

Q24

Which of the following is the price the company receives after accounting for discounts, allowances, promotions, and other incentives?

(a) Premium

(b) Cooperative

(c) Effective pg 39or 40
(d) Efficient

Q25

Which of the following is a pricing technique used by retailers?

(a) Cost-plus pricing pg 41 or 42
(b) Demand- push pricing
(c) Demand- pull pricing
(d) Cost–push pricing
Q26

A pricing method which is designed to encourage purchases that are based on the emotional rather than rational reasons?  
(a) Cost-oriented pricing

(b) Psychological pricing (repeated)
(c) Skimming pricing

(d) Penetration pricing

Q27

Which of the following method is mostly used in the retailing?
(a) Courier service

(b) Online shops
(c) Self-service pg 42 or 41
(d) Counter-service  
Q28

Which of the following is NOT an objective of discounts?
(a) Reward valuable customers

(b) Reward competitors pg 43 or 44
(c) Move out-of-date stock
(d) Increase short-term sales
Q29

BATA offered 10% discount on the sale of shoes at the end of winter season. What can be the purpose of giving such discount?

(a) Reward the customers

(b) Move- out- of- date stock

(c) Encourage the salespeople 
(d) To increase short term sales
Q30

Which of the following markets involve decisions such as: what country to enter in, how to enter, how to adopt their product and services and how to price? 

(a) Consumer markets

(b) Business markets
(c) Global markets pg 3 or 2
(d) Non profit markets
Q31

Which of the following 4Ps of marketing mix involves in decisions regarding channels coverage, assortments, locations, inventories or transports?

(a) Product

(b) Price
(c) Place

(d) Promotion
Q32

The Cargo business covers which of the following decisions under the marketing mix strategy?

(a) Product

(b) Price
(c) Placement

(d) Promotional
Q33

Customer’s viewpoint on a firm’s products and services can be improved through:

(a) Experiential world of customers
(b) Experiential innovation

(c) Customer interface
(d) Building experiential platform
Q34

Which of the following firms emphasizes on product’s benefits to the customers rather product attributes?
(a) Product oriented

(b) Market oriented

(c) Sales oriented
(d) Production oriented
Q35

All are the expression of marketing concept EXPECT: check in pg 9
(a) Meeting needs profitably 
(b) Find wants and fill them
(c) Sell what is produced

(d) Love the customer, not the product
REF 

· Find wants and fill them’.

· ‘You are the boss (Customer)’.

· ‘Have it in your way’.
Q36

Identify the concept that is most aggressively practiced for unsought products.
(a) Product concept
(b) Selling concept (pg 8 )
(c) Marketing concept
(d) Production concept
Q37

Identify the major components of the microenvironment.

(a) Company, suppliers, , customer markets, political forces, competitors and intermediaries

(b) Company, suppliers, intermediaries,technological forces , competitors and customer markets
(c) Company, suppliers, intermediaries, customer markets, competitors, and social forces
(d) Company, suppliers, intermediaries, customer markets, competitors, and publics

Q38

Which of the following is NOT an option available for market leaders?
(a) Reduce the product quality (pg 19 or 20)
(b) Improve customer service
(c) Protect the existing market share
(d) Expand the total market
Q39

Which of the following is NOT included in the financial summary of a marketing plan?
(a) Pro-forma income statement

(b) Month-by-month agenda pg 17
(c) Breakeven analysis
(d) Assumptions
Q40

An advertising company’s ownership of radio, television and newspapers is an example of:

(a) Backward vertical integration

(b) Forward vertical integration
(c) Horizontal integration

(d) Vertical integration
Q41

Identify the type of retailing in each case and explain them.                                                                            
a) Mr. S is running a medicine shop. Analyze which kind of retailing he is following?

b) Mr. A is running a departmental store; he cannot afford the sales person due to higher cost. So he decided the customers pick the products they like, put them into trolley themselves, and then come to counter and make payment and get out from the store. Analyze which kind of retailing he is deciding to adopt?

c) Mr. X is running the Pizza online; he fulfills the orders of customers online and provides free delivery to the places they require. Analyze which kind of retailing he is following?

d) d) Mr. C is withdrawing money from ATM. Analyze which kind of retailing he is following?

